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b*sgrt ((x
b*sqgrt((x

_2'.
0;
b*sgrt((x
b*sgrt((x

%Red

a= .4;b = .3;
m=0;j=0;

y3t = j + b*sqgrt((x
¥3b j - b*sgrt((x

$Yellow
a =

ydal
yar

%$Black
<oz = 85
¥ =
y51 j + b*sgrt((x
¥yor -y51;

$Cyan

a=1;b = 1.8;

m = 0;

y61l = b*sgrt ((x
yér 1;

figure(2);
plot(x, ylt, ’'b-', x, ylb, ‘b-', x, y2t, 'g-', %, ¥2b, 'g-’, x, y3t, 'r-', x, ¥3b, 'r-', «
X, ¥v4l, "y=', x, yi4r; "yv-'; =%, ¥8l, k=", ¥, ¥85¢, 'kK-"; x; ¥6r; ‘o7, %, ¥6l, ‘c-"});
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= 0;
i + b*sgrt{(x
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tYellow
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%Black

a= .5b=.9;
m=0;j=0;

v51l = j + b*sqgrt{(x
y5r = -y51;

%Cyan

a=1;b = 1.8;
m=0;j = 0;

y6l j + b*sqgrt{(x
ybr -y6l;

figure(2);
plot (x, ylt,
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y3t i + b*sgrt({x
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$Yellow

= .1;b = 1.5;
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figure(2};
plot (x, ylt,
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X, vir,

y1lb,

'y-', X%, y51,

rb-', x, Y2tf ‘g-", X,
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%Blue

a=.6b=46;

m=0;j=1.3;

y1t = j + b*sqgrt((x — m).A2/a"2 + 1);
y1b =j - b*sqrt((x — m).A2/a"2 + 1);
%Green

a=.7b=75;

m=0;j=.6;

y2t = j + b*sqrt((x — m).A2/an2 + 1);
y2b = j - b*sqrt((x - m).A2/a”2 + 1);
%Red

a=5b=17;

m=0;j=.7;

y3t = j + b*sqrt((x - m).A2/ar2 + 1);
y3b = j - b*sqrt((x — m).A2/a"2 + 1);
%Yellow

a=.1b=15;

m=0;j=1;

y4l = j + b*sqrt((x — m).A2/a”2 - 1);
yar = —y4l;

%Black

a=.19b=1.9;

m=.4;j=.3;

y5l = | + b*sgrt((x — m).A2/an2 - 1);
ybr = —ybl,

%Cyan

a=4b=2;

m=20;j=0;

y6l = j + b*sqrt((x - m).A2/ar2 - 1);
y6r = —y6l;

figure(2);

plot(x, y1t, ’b-", x, y1b, ’b-", x, y2t, 'g-", X, y2b, 'g-", x, y3t, 'r-", x, y3b, 'r-’, x, y4l, 'y, X, y4r, 'y-', X, y5l, ’k-’, x, y5r, " ¢
k-, x, y6r, 'c-, X, yBl, 'c-’);
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%Blue

a=6b=486;

m=0;j=1.3;

y1t = j + b*sqri((x — m).A2/a”2 + 1);
y1b =j — b*sgrt((x - m).~2/a”2 + 1);
%Green

a=.7b=7.5;

m=0;j=6;

y2t = j + b*sqrt((x — m).A2/a”2 + 1);
y2b =j - b*sqrt((x - m).A2/ar2 + 1);
Y%Red

a=.5b=17;

m=0;j=.7;

y3t = | + b*sqrt((x - m).A2/a’r2 + 1);
y3b = j - b*sqgrt((x - m).A2/ar2 + 1);
%Yellow

a=.1b=25;

m=0;j=1;

y4l = j + b*sqrt((x — m).A2/ar2 - 1);
yar = -y4l;

%Black

a=.19b=1.9;

m=-.04;j=.3;

y5l =j + b*sqrt((x - m).A2/a"2 - 1);
y5r = -y5l;

%C.\fan

a=.3b=2;

m=0;j=0;

y6l = j + b*sqri((x — m).A2/ar2 - 1);
y6r = —y6l;

figure(2);

plot(x, y1t, 'b-', x, y1b, 'b-", X, y2t, 'g-', X, y2b, 'g-’, X, y3t, 'r-', X, y3b, 'r-’, X, y4l, 'y-', x, y4r, 'y-', X, y5l, k=", X, y5r,’ ¢
k-’, x, ybr, 'c-', x, y6l, 'c-");
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(=153 01:1:50;

%$Blue
.6;b = 4.2;
0;3 = 0;
= j + b*sgrt((x
j - b*sgrt{(x

ylt

%Green
.5;:;b = 6;
0:§ = 0;
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$Yellow

a= .1:h = 1.5;

m= 0;j = 1;

y4l = j + b*sqgrti{(x
var = —y4l;

$Black

a= .18;b =
‘m = 0;j = 0;
yv51 j + b*sqgrt((x
yor -v51;

L3

#Cyan

a= .4;b = 2;

m= 0;j = 0;

yv6l = j + b*sgrt((x
yber = -y61;

figure(2);
plot({x, ylt, ‘b-', %, ylb, 'b-‘, x, ¥2t, 'g-', %, ¥2b, ‘'g-', x, y3t, ‘'r-', x, y3b,
x, y4l1, ‘y-*, x, y4r, 'y-', %, y51, ’'k-', x, y5r, ‘k-', x, yér, 'c-', x, y61, ‘c-=');
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{=L.52.0%22.5);

%Blue

a= .6;b=4.6;

m=0;j = 1.3;

vlit = j + b*sgrt((x
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m=0;j = .6;
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E¥ellow

a= .1;b = 2.5;
m=0;j = 1;
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var = -y4l;

%$Black

a=.1%b=1.9;

m=-.03;3 = .3;

v51 i + b*sgrt((x
~-y51;

= 2;
0;
b*sqgrt ((x

figure(2);
plot (x, ylt, ‘b-', x, vlb, 'b-', x,
x, y4l, 'y-', x, vér, ‘y-', x, y51,
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Flux: the rate of transfer of fluid, particles, or energy across a given surface

Residual voids, population densities, and visual stimulation as documented on the site have been mapped over this hyperbolic background
according to their densities, location, and distance from the vertical center line of the grid. When analyzed, the end quantitative measurement of
the chart is flux (density/time). In this case, flux represents the aptitude for change in a particular area.









